Colin and Coco’s
Daily Maths
Workout

Workout 21 £ 22

Answers
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<Workout A

44+ 24 =68
15+33=]48
52+15=|67
34+53=87

<Workout B

40 | =25+15
80 | =37 + 43
/0 | =48+ 22
67 | =24+ 43

14+15=1 29
23+16=| 39
17+22=| 39
15+24=| 39
38 =13+ 25
58 [=22 + 36
39 =24+ 15
69 |=47 + 22
14+ 17 =| 3]
23+18=| 41
17 +24 =] 41
15+26=| 4]

Addition Workout
34+15=49 | 27+12=39
12+16=[28| 12+ 46=|58
15+23=|38| 23+54=|77
14+25=139 | 11+36=]|4/

Addition Workout
58| =24+34 |67|=32+35
A8 =37+ 11 67 | =43+ 24
69| =23 +46 | 47| =36+11
391 =28+11 | 70| =54+16

Addition Workout
34+17=|51| 27+15=|42
18+ 16=|34| 16+46=| 62
15+427=|42| 28+54=|82
18+25=[43| 19+36=|55

<Workout C

44 +28=1|72
15+39=]| 54
55+15=|70
34+58=|92
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Addition Game <Workout D

You need:

Two sets of cards 1 - 9 ( Use playing cards or print off the cards at the back of
the pack.)

To play:

Shuffle the two sets of cards together.

Dedl three cards to each player.

Each player makes a 2-digit number and a 1-digit number and adds them to find a

total.

The player with the larger total scores a point.

For example:

Player 1's Cards Player 2’s Cards

Player 1 makes 74 and 3 so their Player 2 makes 85 and 6 so their
total is 77 total is 91

Player 2 scores a point because they have a larger total.

Shuffle all the cards and deal again.

To win:
The winner is the first player to get 5 points.

You can play this game to practise adding two 2-digit numbers by dedling four
cards to each player.
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Missing Number Workout <W°'rkoUt i

Use the numbers 3, 4, 5, 6, 7 and 8 so that each line
adds up to 20.

Possible
Solution

Use the numbers 3, 4, 5, 6, 7 and 8 so that each line
adds up to 15.

Possible
Solution 6 ‘
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Beanbag Challenge <W°rK°Ut J

Colin throws 3 beanbags at his target.

He scores 24. Where could his beanbags have landed? Find four different ways.
Possible solutions: 7, 8 and 9 6,9 and 9 9,6 and 9 8,8 and 8

What other totals could he score with 3 beanbags if they have to land on three
different numbers? Make a list.
21,22, 23, 24

Coco throws 3 beanbags at her target.

She scores 18. Where could her beanbags have landed? Find two different ways.
5,6and7 6,6 and 6

Can she score dll the totals from 15 to 217
15, 16, 17, 18, 19, 20 and 21
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Word Problem Workout <Workout G

Be careful - they are not all addition problems!

Colin scores 8 with his first beanbag.

He scores 7 with his second beanbag.
He scores 9 with his third beanbag.

How much has he scored attogether? 24

Coco eats 16 crackers for breakfast.
She eats 17 crackers for tea.
How many crackers does she eat alttogether? 33

Colin has 24 apples.
He eats 5 apples.
How many apples are left? 19

Colin has 19 blue cars.
He has 19 red cars.
How many cars does Colin have in total? 38

Coco has 26 bdlloons.
She pops 11 balloons.
How many balloons are left? 15

Create your own problems for 15 + 14
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Number of the Day Workout <W°”‘°”" H

Example Today’s number is 27
Write it in words

N

Twenty-seven

Draw It

Double Tt

H N 654
Halve Tt
i m B
13
and one left over
Draw It another 1 Add 9
way 185
ole| |o|e®
ole| |o|e®
ole| o]
ole| (@@ 10 more
NORDC

10 less Cadlculation so it

is the difference.
30-38
29-2
28-1

(IR
~

Cdlculation so it
is the total.

20+ 7
19+8
18 +19

N N NS
SN TN
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Colin and Coco’s
Daily Maths
Workout

Workout 2.2

Subtraction
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Subtraction Workout 1 <W°'rk°ut A

28-3=|25 27 -2 =125 48 - 5= 143 27-9=]18

28 -4 = |24 27-3=124 48 - 6 = |42 47 -9 =138

39-3=136 36-2=|34 39-5=|34 56 -9 =47

39-4=135 36-3=|33 39-6=133 63-9 =54

Subtraction Workout 2 <W°”‘°“t °

131=27-14 141 =28-14 9 |=37-28 |74 =93-19

25(=37-12 16 | =38-22 / | =34-27 |63|=92-29

24 |= 47 -23 25| =38-13 6 | =35-29 |65|=84-19

211=37-16 33 | =48-15 8 | =33-25 |44|=73-29

<Workout C
Subtraction Workout 3

34-20=| 14 34-16=|18 74-26=|48 | 84-36=|48

43-30=| 13 43-14=|29 83-34=49 | 93-24=|69

52-20=| 32 52-34=|18 72-24=48 | 82-34=|48

75-30=| 45 35-17=|18 65-27=|38 | 95-47=|48
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Take Away Game <W°rKOUt ’

You need:

Two sets of cards 1 - 9 ( Use playing cards or print off the cards at the back of
the pack.)

To play:

Shuffle the two sets of cards together.

Dedl three cards to each player.

Each player makes a 2-digit number and a 1-digit number and subtracts their
1-digit number from their 2-digit number.

The player with the larger answer scores a point.

For example:

Player 1's Cards Player 2's Cards

Player 1 makes 64 and 3 so their Player 2 makes 87 and 5 so their
answer is 61 answer is 82

Player 2 scores a point because they have a larger answer.

Shuffle all the cards and deal again.

To win:
The winner is the first player to get 5 points.

You can play this game to practise subtracting two 2-digit numbers by dealing four
cards to each player.
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Missing Number Workout <W0rkoUt i

Put a 2-digit number in each circle.
Find the difference between two of your numbers and write the answer in the
star between them.

Now find the difference between the numbers in the stars and write the answers
in the hexagons.

Finally, find the difference between the numbers in the hexagons and write the
answer in the square.

ool

Repeat this with different starting numbers.
If you start with larger numbers is the number in the square larger?

Can you find a way to get a 1 in the square?
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Take Away Routes <W°”‘°“t F

Start at the bottom left hand corner of the grid with 100.

Move across or up or down and subtract the number you land on each time.
Find two routes that mean you end up with zero at the top right hand corner.

Possible Route
Finish with O

8 24 ?:IFI ?10

7 8

11
s
$12 19 32 16

Start with 100

So the first step means you will calculate 100 - 12

The next step you could either move to 16 and subtract that from your answer, or
move to 19 and subtract that.

Keep moving from square to square unitl you reach the top right hand corner.

Create your own grid of numbers to get from 100 to O

. www candomaths.co.uk
www.buzzardpubllshlng.coms product is licensed for the exclusive use of Glenfall - www.buzzardpublishing.com



Word Problem Workout <W0rkout G

Be careful - they are not all subtraction problems!

Colin scores 23 with three beanbags.
He scores 6 with his first beanbag and 7 with his second.
How much did he score with his third beanbag? 10

Coco has 56 crackers in a pack.
She eats 17 crackers for tea.
How many crackers does she have left? 39

Colin has 34 apples.
Coco has 26 apples.
How many more apples does Colin have than Coco? 8

Colin has 35 red and blue cars.
He has 17 red cars.
How many blue cars does Colin have? 18

Coco has 23 balloons.
Colin has 38 badlloons.
How many balloons do they have altogether? 61

Create your own problem for 36 - 18 = 17
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Number of the Day Workout <W°rK°ut H

Example Today’s number is 30
30/03/20 / Write it in words
Thirty
Draw It \ Double Tt
| | | / Halve It 60
16
Draw It another Add 9
way
°
slo [olel ol x
ole| [o]e]| [oe
ole| (o]0 [o]e®

10 less Cadlculation so it

is the difference.

40 -10
quculation So it 39-9
is the total. 38 -8

20 + 10
21 +9
22 + 8

TN
I N N
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Cards for the Games
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